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PiecewiseFunction Answers for No.9012

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 3| -3 | -5 =7 | -9 | -11 | -13 | -15 | -17 | -19 | -21
Ans02 : f(x)| -24 | -22 | -20 | -18 | -16 | -14 | =12 | NA | -2 | -3 | -4 -5| -6] -6| -6] -6| -6] -6 -6] -61 -6
Ans03
2x+3 ; x<-2
=]
x+1  ; x>=-2
f(-4)=11, ,f(-2)=-1, ,f(-1)=0, ,f(2)=3, ,f(4)=5
Ans04
3+x x< -1
f(x)={-2x+1 ; -1 <x<3
-5 ; x>=3
f(-4)=-7, ,f(-1)=N4, ,f(1)=-1, ,f(3)=-5 ,f(4)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
-6 | 2 2 2] 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.9016

x | -10 -9 | -8 -7 1 -6 -5 ] -4 -3 ] =2 -1 | 0 1] 2 3 | 4 5 | 6 7 8 | 9 10 |
Ans01 : f(x)| -9 | -8 | =7 | -6 | -5 | -4 | -3 | -2 | NA | -3 | -5 | =7 1 -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans02 : f(x)| 8 | 7 6 | 5 | 4 | 3 | 2 1| 0 | 0 | 01 0 | 0 | 3 | 5 | 7 91 11| 13 | 15 | 17
Ans03
2x+2 ; x<=-
f(x){
2—-x x> -1
f('4):'6’ 7f('2):'2’ ,f(-l)IO, ,f(2):0, ’f(3):'1
Ans04
1 : x< -2
fix)={-2x-3 ; -2<=x<3
x—2 N x> 3
f(-2)=1, ,f(0)=-3, ,f(1)=-5, ,f(2)=-7, ,f(3)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
5 | 2 2 2] 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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PiecewiseFunction Answers for No.9018

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | -4 | -3 | -2 | -1 | 0 | 1] 2| 3 4 ] 5 |
AnsO2 : £(x)| -7 -7 =7 -7 1| =711 =7 =71 =71 =71 =71 =51 =3 | -1 | 2| 1] ol -1 -2 1 =31 =41 =51
Ans03
3+x ; x<2
f(x){
2x+1 ; x>=2
f(-2)=-5, ,f(-1)=-4, ,f0)=-3, ,f(1)=-2, ,f(2)=-3
Ans04
1 N x< -1
fix)=12x+3 , -1 <x<=3
2—-x x> 3
f-4)=1, ,f(-3)=1, ,f(-2)=1, ,f(-1)=N4, ,f(3)=9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -6 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9036

x| =101 -9 -8 | -7 61 -51 -4 -3/ -2/ -r oy 0 219 3! 41 59 eIl 71 811 91 10|
Ans01 : f(x)| 7 6 | 5 | 4 3| 2 1 NA | -9 | =7 1 -5 | -3 | -1 | 1| 3 5 7 9 | 11 | 13 | 15 |
Ans02 : f(x)| 8 | 7 6 | 5 4 | 3 | 2 1 0 | 1] 1| NA | 3 5 | 7 9| 11| 13 | 15| 17 | 19
Ans03
x+3 cox< -2
f(x):[ }
2x+2 ; x> -2
f(-4)=-1, ,f(-2)=N4, ,f(-1)=4, ,f(0)=2, ,f(2)=-2
Ans04
x+2 N x< -2
fix)= -1 ;2 <x<
2x+1 x> 1
f(-4)=-2, ,f(-2)=N4, ,f(-1)=-1, ,f(1)=N4, ,f(4)=-7
a | f(a) | LH-Limit | RH-Limit Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-6 | 2 | 2 | 2 | 2 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
7 5 | 3 3] 3 | Discontinuous |
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PiecewiseFunction Answers for No.9037

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -17 | -15 | =13 | -11 | -9 | =7 1 -5 | -3 | -3 | -4 | -5 | -6 | =7 | -8 | -9 | -10 | =11 | =12 | =13 | -14 | =15 |
Ans02 : f(x)| 6 | 5 | 4 | 3 | 2 1| 01 -2 0 | 2 | 4 | 6 | NA | 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 |
Ans03
3—-x ; x<-1
f(x){
2x-2 ; x> -1
f(-3)=6, ,f(-2)=5, ,f(-1)=N4, ,f(0)=-2, ,f(4)=6
Ans04
-3 K x< -2
fix)=]2x+1 , -2<=x<3
-2-x x> 3
f(-4)=-3, ,f(-3)=-3, ,f(-2)=-3, ,f(3)=N4, ,f(4)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
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PiecewiseFunction Answers for No.9138

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x)| -21 | -19 | -17 | =15 | -13 | -11 | -9 | -7 | NA | -4 | -5 | -6 | =7 | -8 | -9 | -10 | =11 | =12 | =13 | -14 | =15 |
Ans02 : f(x)| -15 | -13 | =11 | -9 | -7 1] -5 =3 | -1 Ty -7 =71 =71 =71 -8 -9 -10 | -11 | -12 | =13 | -14 | -15 |
Ans03
2x-1 ; x<1
f(x){
3—x ; x>1
f(-3)=-7, ,f(-1)=-3, ,f(0)=-1, ,f(1)=N4, ,f(2)=1
Ans04
0 N x< -1
flx)=|-1-x , -I<=x<=1]
2x-3 x> 1
f(-4)=0, ,f(-2)=0, ,f(-1)=0, ,f(0)=-1, ,f(1)=-2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-2 | 0 | 2 | 2] 2 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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PiecewiseFunction Answers for No.9602

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | -5 | -6 | NA | 1 3| 5 7 9 | 11 | 13 | 15 |
AnsO2 : f(x)| -2 | -1 | -1 | -1 | -1 -1 | -1 1] -1 | -1/ 0| 1| 2 | 3| NA | -10 | -12 | -14 | -16 | =18 | -20 | -22 |
Ans03
2-x ; x<-1
f(x){
2x+2 ; x>=-1
f(-4)=2, ,f(-2)=0, ,f(-1)=0, ,f(0)=2, ,f(3)=38
Ans04
x—1 : x< -2
f(x)= -3 ; 2<=x<1
2x-3 x>=1
f('3):'47 ,f(-2)2-3, ’f('l):'3a ’f(l):'sa 7f(3):'9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-6 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
3 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
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PiecewiseFunction Answers for No.9616

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -15 | -14 | -13 | -12 | -11 | =10 | -9 | -8 | =7 | -6 | -5 | -4 | -3 | -10 | -12 | =14 | -16 | =18 | =20 | -22 | -24 |
AnsO2 : f£f(x)| -7 | -6 1| -5 -4 1| -3 | -2 -1/ 0 | 1] NA | 2 | 2 | 2 21 -5 =71 =9 | -11 | -13 | =15 | -17 |
Ans03
2-x ; x<-2
f(x){
2x+2 ; x> -2
f(-4)=2, ,f(-2)=N4, ,f(1)=4, ,f(2)=6, ,f(4)=10
Ans04
x—1 : x< -1
fix)={2x+1 ; -1 <x<=2
-3 K x> 2
f(-3)=-4, ,f(-1)=N4, ,f(1)=-1, ,f(2)=-3, ,f(3)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-10 | 1 2 | 2 | 2 | Discontinuous |
-2 | 0 | 2 | 2] 2 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |
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PiecewiseFunction Answers for No.10152

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | 4 | 5 | 6 | 7 8 | 9 | 10 | 11 |
Ans02 : f(x)| 21| 19| 17 | 15 | 13 | 11 | 9 | 7 5 | 5 | 5 | 5 1 -1 | 0| 1| 2 | 3 4 | 5 | 6 | 7
Ans03
2x+1 ; x<2
f(x>=[
l-x ; x>=2
f('3):'5’ 7f('1):'1’ 7f(1):3’ af(z):'la ’f(4):'3
Ans04
2-x x < -1
fix)=12x+1 ,; -1 <x<=2
5 N x> 2
f(-4)=2, ,f(-2)=0, ,f(-1)=N4, ,f(2)=5 ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
5 | 2 | 2 | 2 | 2 | Continuous
9 | 4 | 1] 1| 1 | Discontinuous |
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.11738

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -25 | -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | 3 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | -7 | -8 |
AnsO2 : f(x)| -4 | -41| -4 -41| -4 -4| -4 -4| NA| -3| -2 -1 -61] -81]-101| -12 | -14 | -16 | -18 | =20 | -22 |
Ans03
3-x ; x< -1
=]
2x+2 ; x> -1
f(-2)=-1, ,f(-1)=N4, ,f(2)=6, ,f(3)=8, ,f(4)=10
Ans04
x—1 : x< -2
fix)={-2x-2 ; -2<=x<3
-8 K x>=3
f('4):'5’ ,f(-2):2, ’f(l):'4’ ,f(2)2-6, ’f(3):'8
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-10 | 1 2 | 2 | 2 | Discontinuous |
-8 | undefined | 2 2] 2 | Discontinuous
5 | 2 2 | 2 | 2 | Continuous
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.11754

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -9 | -8 | =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 -6 | -8 | -10 | -12 | -14 | =16 | =18 | =20 | =22 |
Ans02 : f(x)| -15 | -13 | -1 | -9 | -7 -5| -3} -1 | -1 -2 | -11| -6 -7 -8 -9 | -10 | -11 | -12 | -13 | -14 | -15 |
Ans03
2x+1 ; x< -1
f(x){
1-x ,; x> -1
f(-4)=-7, ,f(-1)=N4, ,f(0)=1, ,f(1)=0, ,f(3)=-2
Ans04
1 N x< -2
f(x)={ x+3 ,; -2<x<3
2x-1 x> 3
f(-2)=N4, ,f(0)=3, ,f(1)=4, ,f(2)=5 ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-7 | 2 | 2 | 2 | 2 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0:0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT ORI Lo 7579 ¢
PiecewiseFunction Answers for No.11841

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
AnsO1 : f(x)| -11 | -10 | -9 | -8 1| =71 -6 =51 -4 | =3 7 5 | 3 ry -1/ =31 -5 =71 -9 -11 | -13 | -15 |
Ans02 : f(x)| 17 | 15 | 13 | 11 | 9 | 7 5 | 3 | 3 3| 3] 3| 3] 0 | 1] 2 | 3 4 | 5 | 6 | 71
Ans03
2—-x ; x<2
f(x>=[
2x+2 ; x>=2
f(-4)=6, ,f(1)=1, ,f(2)=6, ,f(3)=8, ,f(4)=10
Ans04
2x-2 x< -3
f(x)= 4 ;, 3<=x<2
x—2 N x>=2
f(-3)=4, ,f(0)=4, ,f(1)=4, ,f(2)=0, ,f(3)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
1 | 4 | 1 1 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
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DGRV ERRNCIVIVEND’0:0:6:0.0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N0 I O i ) ¢
PiecewiseFunction Answers for No.11842

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 1 3 -6 | =7 | -8 | -9 | =10 | =11 | -12 |
Ans02 : f(x)| 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 | NA | 6 | 4 | 2 | 0 | NA | 1| 2 | 3 4 | 5 | 6 | 71
Ans03
—1-x ; x<=-1
f(x){
2x-2 ; x> -1
f('4):3’ af('3):27 ,f(-l):(), af(o):'za ’f(3):4
Ans04
2x+1 x<=-2
fix)=| -3 ;-2 <x<=2
-1-x x> 2
f(-3)=-5, ,f(-2)=-3, ,f(2)=-3, .f(3)=-4, ,f(4)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-6 | 2 2 2] 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
1] 4| 1 1 1 | Discontinuous |

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXKXXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKXKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’$:0:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N LI O N /5794
PiecewiseFunction Answers for No.11901

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 12 | 11 | 10 | 9 | 8 | 71 6 | 5 4 | 3 2 | NA | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16
AnsO2 : f(x)| -12 | -11 | -10 | -9 | -8 | -7 -6 1 -5 -5 =5 =51 o -2 -4 -61] -8 | -10 ] -12 | -14 | -16 | -18 |
Ans03
2x+2 ; x<=-2
f(x){
x+1 ;x> -2
f('3):8a ,f(-2)26, 7f(0):1’ 7f(1):2’ ,f(2)23
Ans04
3+x x< -2
fix)=|2x+2 ; -2<=x<=3
-4 K x> 3
f(-4)=-7, ,f(-2)=6, ,f(1)=0, ,f(3)=-4, ,f(4)=-4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
-10 | 1] 2 2] 2 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT ORI Lo N ) ¢
PiecewiseFunction Answers for No.11947

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 17 | 15 | 13 | 11 | 9 | 71 5 | 3 | NA | -5 | -4 | -3 | -2 | -1 | 0 | 1| 2 | 3 4 | 5 | 6 |
Ans02 : f(x)| 7 7 7 7 7 7 7 7 5 | 3| ] -1 1 =31 =51 01 1| 2 | 3| 4 | 5 6 |
Ans03
x—2 ;ox<=2
f(x):[ }
2x-3 ; x> 2
f(-4)=-6, ,f(-3)=-5 ,f(-1)=-3, ,f(2)=0, ,f(3)=-9
Ans04
-3-x x< -1
fix)=]2x+2 , -1<=x<3
8 N x> 3
f(-2)=-1, ,f(-1)=0, ,f(0)=2, ,f(3)=N4, ,f(4)=38
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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DGRV ERHNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT O N R I O H ) ¢
PiecewiseFunction Answers for No.11989

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 f(x)| -19 | -17 | =15 | -13 | -11 | -9 | =7 | -5 | -3 | -1 | 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 -8 |
Ans02 : f(x)| -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | =7 | ©NA | 1| o| -1} - -1 -2 | -1 -1 -1 -11] -1
Ans03
l-x ; x<2
f(x){
2x-3 ; x> 2
f(-3)=4, ,f(-1)=2, ,f(2)=N4, .f(3)=3, ,f(4)=5
Ans04
2x-3 x<=-3
fix)={ -2 ; -3 <x<3
I-x x> 3
f(-3)=-9, ,f(-2)=-2, ,f(-1)=-2, ,f(3)=N4, ,f(4)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-4 | 2 | 2 | 2 | 2 | Continuous
5 | 2 2 2] 2 | Continuous
9 | 4 | 1 1 1 | Discontinuous |
12 | 3 3 3 3 | Continuous
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKX XXX XXX KXKXX KX KKK KKK XK XXX KK LXK XX KKK XK XKL KK LXK XXX KKK XK XXX XXX KK XXX XXX KKXKKKKKMG6/1-6400501-00017XX
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PiecewiseFunction Answers for No.11996

x| =101 -9 -8 1] -7 61 -51 -4 -3 -2 -11 0
Ans01 : f(x)| 8 | 71 6 | 5 4 | 3 2 1 0 | -1 | -2
Ans02 : f(x)| 3 3 3 3 3 3 3 3 3 3 1
Ans03
2x+3
)=
-3 +x
f(-3)=9, ,f(0)=3, ,f(1)=1,
Ans04
2x+1
fx)y=| -1
1-x
f(-3)=N4, ,f(-2)=-1, ,f(-1)=-1,
a f(a) | LH-Limit | RH-Limit Limit Continuity
Ans05 -3 | wundefined | infinity | infinity | infinity | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 1] 1] 1] 1 | Continuous
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~

M(4)=1

,f(4)=-3

S 6 | 7 8 | 9 | 10 |
9 | 11 | 13 | 15 | 17 | 19 |
9 | 10 | 11 | 12 | 13 | 14 |



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKX XXX XXX XK KKK KKK KKK XK XXX KK XXX XX KKK XK K LXK KX XK KKK XXX KKK XK XXX KKK XK XXX KKXKKKKKMG6/1-6400501-00018XX
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PiecewiseFunction Answers for No.12889

| 4 | 5 | 6 | 7 8 | 9 | 10 |
| 8 | 9| 10| 11 | 12 | 13 | 14 |
| =21 -2 1 =21 =211 =21 =21 -2
,f(4)=-10

f(4)=-4

x| -10 | -9 =81 =71 -6/ 51 -4 | 31 =21 -1 0 1] 2|
Ans01 f(x) | 22 | 20 | 18 | 16 | 14 | 12 | 0 | 8 | 6 | 4 | 2 0 | -2 |
Ans02 f(x)! 191 17 | 15| 13 | 11 | 9 | 7 5 | 3 | NA | -5 -4 | =3 |
Ans03
x+2 ;ox< -1
2x-2 ; x> -1
f(-2):0, 7f('1):NA7 ’f(l):'4a ,f(2)2-6,
Ans04
2x+2 x< -3
flx)=|2-x ,; -3<=x<=2
-4 ; x> 2
f(-3)=1, ,f0)=-2, ,f(1)=-3, ,f(2)=-4,
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-10 | 1 2 | 2 | 2 | Discontinuous |
-9 3 3 3] 3 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
[RECRESNINRCE D 0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0:0.0:0.0:0:0.0:0:0.0.0.0:0:0.0:0:0.0:0.0:0:0.0:0.0:0:0.0:0:0:0.0.0:0:0:0:0:0.0.0.0:0:0.0:0.0:0:0.0:0:0.0:0.0:0:0.0:0:0:0:0.0:0:0:0:0.0.:0:0.0:0:0:0:0.0:0:0.0:0.0.0:0.0.:0:0:0:0:0.0.0.0:0:0.0:0:0:0.0.0.:0.0.0.¢



DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N LI O N ) ¢
PiecewiseFunction Answers for No.12890

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -21 | -19 | -17 | =15 | -13 | -11 | -9 | =7 1 -5 | -3 | -1 | 1 -5 | -6 | -7 -8 | -9 | =10 | -11 | -12 | -13 |
AnsO2 : f(x)| -3 | -3 | -3 | -3 -3 -3 =31 -3 =31 -2 -11] 0| 1| -10 | -12 | -14 | -16 | -18 | =20 | -22 | -24 |
Ans03
2x+1 ; x<=2
f(x){
x+3 ;x> 2
f(-4)=9, ,f(0)=1, ,f(1)=-1, ,f(2)=-3, ,f(3)=6
Ans04
2x+1 x< -2
fix)=] 2—-x , -2<=x<1
1 N x>=1
f('2)24a ’f('l):3’ 7f(1):1’ 7f(3):1’ 7f(4):1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -4 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
7 5 | 3 3] 3 | Discontinuous |

(UJONRCA D 9:9:9:0:0:9:0.9:0:0:0:0.9:0:9:0:0:0.0.0:0:9:0.0:0.0.:0:0.9:0:0:0.0.0:0.9:0:0:0.0.0:0:0:0:0.0.0.0:0.9:0:0:0.0.0:0.9:0:0:0.0.9:0.0:0:0.0.0.0:0.0:0:0:0.0.0:0.:9:0:0:0.0.0:0.9:0:0.0.0.0:0.0:0.0.0.0.0:0:0:0:0:0.0.0:0.9:0:0:0.0.0.0.0:0.9:0:0:0.0.0:0.9:0:0:0.0.0:0.0:0:0:0.0¢

X [Page



DGRV ERRNCIVIVEND’'$:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT O N 010 J0 1240) ¢
PiecewiseFunction Answers for No.12891

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -15 | -14 | -13 | -12 | -11 | =10 | -9 | -8 | NA | -3 | -5 | =7 1 -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans02 : f(x)| -16 | -14 | -12 | =10 | -8 | -6 | -4 -2 | -2 -2 | -2 NA| =-6] -7 =81 -9 -10 ] -11 | -12 | -13 | -14 |
Ans03
2x+1 ; x<=-2
=]
x+2 ;x> -2
f('4):9a ’f('z):sa 7f(2):4’ 7f(3):5’ af(4):6
Ans04
x+1 N x< -1
fix)= 0 ;- <x< 1
-2x+2 ; x>=1
f(-4)=-3, ,f(-2)=-1, ,f(-1)=N4, ,f(1)=0, ,f(2)=-2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous
-6 | 2 2 2] 2 | Continuous
-5 | undefined | 1 1 1 | Discontinuous |
5 2 2 | 2 2 | Continuous
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DGRV ERRNCIVIVEND’0:9:0:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT L L LT ORI Lo LA D794
PiecewiseFunction Answers for No.12917

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6 | NA | -1 | 0 | 11 2 | 3| 4 | 5 | 6 | 7 8 | 9 |
Ans0O2 : f(x)| 23 | 21| 19| 17 | 15 | 13 | 11 | 9 | 7 | NA | 5 | 5 | 5 | 6 | 7 8 | 911 10 | 11 | 12 | 13 |
Ans03
3-x ; x<-I
f(x){
2x+1 ; x>=-1
f('4):1’ af('3):07 ’f('l):'la ,f(O):l, ’f(4):9
Ans04
2 N x< -1
fix)=] 1-x , -I1<=x<3
2x-2 x>=3
f(-4)=2, ,f(-1)=2, ,f(0)=1, ,f(2)=-1, ,f(3)=4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
-3 | undefined | infinity | infinity | infinity | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0:0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT O N 010 Je 1225794
PiecewiseFunction Answers for No.13099

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -21 | -19 | -17 | =15 | -13 | -11 | -9 | 5 4 | 3 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 |
Ans02 : f(x)| 24| 22| 20| 18 | 16 | 14 | 12 | 10 | NA | -3 | -2 | -1 | 0 | 0 | 01 0 | 01 0 | 0 | 0 | 0 |
Ans03
2x-3 ; x<1
)=
x—1 x> 1
f(-3)=3, ,f(1)=N4, ,f(2)=1, ,f(3)=2, ,f(4)=3
Ans04
x—1 : x< -2
fix)={2x-1 ; -2 <x<=1]
-3 K x> 1
f(-2)=N4, ,f(0)=-1, ,f(1)=-3, ,f(2)=-3, ,f(4)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKKKXKXKXKKKXKKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXKXXXXKX XXX XXX XK KKK KKK KKK KKK LXK KKK LXK LXK KX XK XKL KK LXK XKLL XXX KKK KKK XXX XXX KK KKK KKXKKKKKMG6/1-6400501-00023XX

X

PiecewiseFunction Answers for No.13100

x| -101] -9 -8 -71] =-61 -51] -4 -3/ -2/ -r oy 0 219 3! 41 59 eIl 71 811 91 10|
Ans01 f(x) | -9 | -8 | =7 | -6 | -5 | -4 | -3 -2 | -1 | -1 | -3 | -5 | =7 | -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 |
AnsO2 : f(x)| -13 | -12 | -11 | =10 | -9 | -8 | -7 2 | o| -2 | -4 -6 -8 -10 | -10 | -10 | =10 | =10 | =10 | =10 | =10 |
Ans03
2x+2 ; x<=2
f(x>=[
3—x ; x>2
f('4):'6’ 7f('3):'4’ 7f('2):'2’ 7f(0):2’ ,f(2)26
Ans04
-2x-3 x<=-1
f(x)= -1 ;-1 <x<=3
x—1 N x> 3
f('4):5a ’f('z):la 7f('1):'1’ af(l):'la ’f(3):'1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-2 | 0 | 2 | 2] 2 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
12 3 3 3 3 | Continuous
[R:ECRESICE D 0:0:0:0:0:0:0:0:0:0:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0:0.0:0:0.0:0:0.0.0.0:0:0.0:0:0.0:0.0:0:0.0:0.0:0:0.0:0:0:0.0.0:0:0:0:0:0.0.0.0:0:0:0.:0:0:0:0.0:0:0.0:0.0:0:0:0:0:0:0:0:0:0:0:0:0.0.:0:0.0.:0.0:0:0.0:0:0.0.0.0.0.0.0:0:0.0:0:0.0.0.0:0:0:0:0:0:0:0.0.:0.0.0¢
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X

PiecewiseFunction Answers for No.13411

x| -10 | -9 -8 =7 -6 | -5 -4 =31 -2 -1/ 0 1] 2|
Ans01 f(x)| -15 | -13 | -11 | -9 =7 | -5 | -3 -1 | 7 6 | 5 4 | 3
Ans02 f(x)| -14 | -13 | -12 | -11 -0 -9 -8 -7 NA | -2 | -4 -6 | -8
Ans03
l-x , x<=1
f(X)=[
2x+1 x> 1
f(-4)=5, ,f(-3)=4, ,f(-2)=3, ,f(1)=0,
Ans04
-3 ; x<=-3
fix)={2x+3 ; -3 <x<2
2-x x>=2
f(-4)=-3, ,f(-3)=-3, ,f(0)=3, ,f(1)=5,
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
3 | 5 | 3 3 3 | Discontinuous |
8 | 4 | 4 | 2] DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous
[Page = 0024]

| 4 ] 5 | 6 | 7 8 | 9 | 10 |
Il 11 01 =11 -2 =31 -4 -5
| =10 | -10 | =10 | =10 | =10 | -10 | -10 |
f(4)=9
f(2)=-4

):0:0:0:9:9:0.0:9:9:0.9.0:0:9.9:0.0.0:0:9:9.9.0.0:9.9:0.0.0:0:9,9.0.0.0:0.9.0.0.0:0.9.0.0.0.0:0.9,0.0.0:0.9.9.0.0.0:0.9,9.0.0:0:9:9.0.0.0:0.9.0.0.0:0.:9.9.0.0.0.9.9.0.0.0:0.9.0.0.0.0.:0.9,0.0.0:0.9.0.0.0.0:0.9.9.0.0.0.9.0.0.0.0.0.:0.9.0.0.0:0.9.9.0.0.0.:0.9.0.0.0:0.9.0.0.4



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT O N 00 J0 12355704
PiecewiseFunction Answers for No.646101

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 25 | 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 71 5 | 3 1] -2 | -1 | 0 | 1] 2| 3 4 ] 5 |
Ans02 : f(x)| -6 1] -5 | -4 1] -3 | -2 1] -1/ 0 | 1| 2 ol =21 -4 -4 1| -4 -4 | -4 -4 -4 -4 | -4 -4
Ans03
2x+3 ; x<=2
f(x){
x—2 ;x> 2
f(-4)=11, ,f(-3)=9, ,f(-2)=7, ,f(2)=-1, ,f(4)=2
Ans04
1 : x< -2
fix)={-2x-3 ; -2 <x<=1
x—2 N x> 1
f(-3)=1, ,f(-2)=N4, ,f(0)=-3, ,f(1)=-5 ,f(3)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-4 | 2 | 2 | 2 | 2 | Continuous
5 | 2 2 2] 2 | Continuous
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0025] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXXKXKXKKKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:00:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT O N 010 J0 12155 ¢
PiecewiseFunction Answers for No.646102

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18
Ans02 : f(x)| 6 | 6 | 6 | 6 | 6 | 6 | 6 | 6 | 6 | 6 | 4 ] 2 | 0 | NA | 5 | 6 | 7 8 | 9 | 10 | 11 |
Ans03
2x+2 ; x<=-1
f(x):[ }
3-x ; x> -1
f(-2):-2, ,f(-l)IO, ,f(2):-5, af(3):'67 ’f(4):'7
Ans04
2x-2 x< -3
flx)= 4 ; 3<=x<=1
x—1 N x> 1
f('4):6a ’f('3):4’ 7f(0):4’ 7f(1):4’ af(4):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -4 | 2 | 2 | 2 | 2 | Continuous
3 | 5 | 3 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1] 1 1 1 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT ORI Lo I D ¢
PiecewiseFunction Answers for No.646103

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
AnsO1 : f(x)| 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3 2 1| ol -11 =2 3 | 5 | 7 9 | 11 | 13 | 15 |
Ans0O2 : f(x)| 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7YV -7 -5} -3 -1} -2 | -1 -1} -1 -1 -1 -1 -1 -1
Ans03
x+1 sox< -2
f(x):[ }
2x+3 ; x>=-2
f(-4)=-3, ,f(-:3)=-2, ,f(-2)=7, ,f(-1)=5, ,f(2)=-1
Ans04
5 N x<=-]
f(x)={-2x+3 ,; -1 <x<2
3+x x> 2
f('4):5a ’f('3):5’ ’f('l)zsa ’f(o):37 >f(2):NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2] 2 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXKXKXKXKXXXKXKXKXXKXKXKKKXKXKXKXKKKXKXKXKK XK X KKK KKK XKXK KKK XXX KKK KKK XXX KKK KX KX KKK KX KX KKK KXKXK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA T L L LT O N A 010 J0 124 ) ¢
PiecewiseFunction Answers for No.646104

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x)| -13 | -12 | -11 | -10 | -9 | -8 | =7 | -6 | -5 | -3 | -5 | =7 1 -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans02 : f(x)| 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3| 5 7 9 | 9 | 9 | 9 | 9 | 9 | 9 | 9 | 9
Ans03
2x-3 ; x< -1
f(x)z[
x+1 ;x> -1
f(-3)=3, ,f(-1)=N4, ,f(1)=2, .f(3)=4, ,f(4)=5
Ans04
x+2 : x< -3
fix)={2x+2 ; -3<=x<1
0 N x> 1
f(-4)=-2, ,f(-3)=8, ,f(0)=2, ,f(1)=N4, ,f{(4)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
-5 | undefined | 1] 1| 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKK XXX KKK KKK XKXKKKXKX KKK KKK XXX KX KKK KX KKK KKK XKXKKKKXKXK



X

X

JUERHICIVIVEND’0:0:0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:00.0:0.0:0:0.0:0.0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.00.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0.:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:9.0:6:0.0 ¢ | [ YA T AT 1T O N R 010 J0 122°) ¢
PiecewiseFunction Answers for No.646105

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | -5 | =7 | -9 | -2 | -1 | 0 | 1] 2| 3 4 ] 5 |
AnsO2 : f(x)| -19 | -17 | -15 | =13 | =11 | -9 | -7 | =5 | NA | 5 | 4 | 3 | 2 2 | 2 2 | 2 2 | 2 | 2 2 |
Ans03
3—-x ,; x<2=-2
f(x){
2x-1 ; x>=-2
f(-4)=7, ,f(-2)=-5, ,f(-1)=-3, ,f(2)=3, ,f(3)=5
Ans04
2x-3 x< -2
f(x)= 1 ; 2<=x<1
x—1 N x>=1
f('3):3a ’f('z):la 7f(0):1’ 7f(1):0’ 7f(2):1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -5 | undefined | 1] 1] 1 | Discontinuous |
-4 | 2 | 2 | 2 | 2 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
11 | 1| 1] 1] 1 | Continuous

[Page = 0029] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXKXKXKXXKXKXKXXKXKXKXKXKXKXKXKXKXKXKXKKXKX KKK KKK KKK KKK XXX KKKXKXKKKK KKK KKK KKK KKK KKK KX KX KKK KX KXKKKK



DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N 00 Je Ic10) 04
PiecewiseFunction Answers for No.646106

x| -0 -9 -8 =71 -6 =51 -4 | =31 =21 -1/ 0 | 1 2 | 3] 4 | 5 | 6 | 7| 8 | 9 | 10 |
AnsO01 : f(x)| -19 | =17 | =15 | =13 | =11 | -9 | =7 | -5 | -3 | -1 | 1 3| 5 NA | -5 | -6 | =7 | -8 | -9 | -10 | -11
Ans02 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | 0 | 0| 0 | 0| 0 | 5 | 6 | 7 8 | 9| 10 | 11 | 12 |
Ans03
x—1 sox< -1
f(x)=|: :‘
2x-3 ; x>=-1
f(-4)=-5, ,f(-3)=-4, ,f(-2)=-3, ,f(-1)=-1, ,f(3)=-9
Ans04
-3 ; x< -3
f(x)={2x+3 ; -3 <x<3
-3-x x>=3
f(-4)=-3, ,f(-3)=N4, ,f(0)=3, ,f(3)=-6, ,f(4)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
1 | 4 | 1 1 1 | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0030] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKKKXKXKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KX KKK KXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT T NI T ORI JO ICH D704
PiecewiseFunction Answers for No.646107

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -12 | -11 | =10 | -9 | -8 | =7 1 -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1| -3 -5 | =7 | -9 | -11 | -13 | =15 |
Ans02 : f(x)| -8 -8| -8 -8 -8 -8 -8 1] -8 -8 -6 -41] -2 1] o -1 -2 =31 -4 -5 =61 =-71
Ans03
2x-3 ; x<=2
3—x ; x>2
f(-4)=-11, ,f(-2)=-7, ,f(0)=-3, ,f(2)=1, ,f(4)=-1
Ans04
2x+2 x< -1
f(x)= 0 ;, -l<=x<3
3+x x> 3
f(-3)=8, ,f(-1)=0, ,f(2)=0, ,f(3)=N4, ,f(4)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
1 | 4 | 1 1 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous

X [Page = 0031] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXKXXKXXXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.0 ¢ | [ YA LT LN T ORI [0 I 123704
PiecewiseFunction Answers for No.646108

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 | 0 | 2 4 | 6 | 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 |
Ans02 : f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | ol -2 -4 -6 NA | 6 | 7 8 | 9 | ol 11 | 12 |
Ans03
3+x ; x<=-2
f(x){
2x+2 ; x> -2
f('4):'77 ’f('3):'6a ’f('z):'sa ’f('l):4’ 7f(2):'2
Ans04
1-x x<=-2
fix)=] 3 ;2 <x<=1]
2x+1 x> 1
f('3):4a ,f(-2)23, 7f(1):3’ 7f(2):5’ af(3):7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-8 | undefined | 2 2] 2 | Discontinuous
-6 | 2 2 | 2 | 2 | Continuous
7 5 | 3 3] 3 | Discontinuous |

X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXK KKK KKK KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KX KKK KXKXK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | (YA LT LN LT ORI Je I 1) ¢
PiecewiseFunction Answers for No.646109

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -17 | -15 | =13 | -11 | -9 | =7 1 -5 | -3 | -1 | 1 3| 5 7 9 | -9 | -10 | =11 | =12 | =13 | -14 | =15 |
Ans02 : f(x)| -1} -2 | -1} -1 | -1 ]| -1 | -1 ] -1 | -1 1] NA| 1| 3| NA| -4 -5| -6 -7 -8 -9 -10 | -11 |
Ans03
3-x ; x<=-]
f(x){
2x+3 ; x> -1
f('4):1a ’f('3):0’ 7f('2):'1’ 7f('1):'2’ af(3):9
Ans04
2x-1 ; x<=-2
fix)= 3 ;2 <x<2
x—1 N x>=2
f('4):7a ,f(-2)23, 7f(1):3’ 7f(2):1’ af(3):2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-4 | 2 | 2 | 2 | 2 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous

X [Page = 0033] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXK KKK XK XK XKKKXKXKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT ORI JO I Y5794
PiecewiseFunction Answers for No.646110

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -11 | -10 | -9 | -8 | =7 | -6 | -5 | -4 | NA | 5 3| 1| -1 | -3 | -5 | =7 | -9 | -11 | -13 | -15 | -17 |
Ans02 : f(x)| -23 | -21 | -19 | -17 | -15 | -13 | -1 | -9 | -7 1] -5 | -5 -5 | -5 ] NA | 1| ol -1 -2 =31 -4 1] =51
Ans03
3+x ; x<=-1
f(x){
2x-1 ; x> -1
f(-2)=-5, ,f(-1)=-4, ,f(0)=-1, ,f(2)=-5 ,f(3)=-7
Ans04
-1 K x<=-3
f(x)={ x+2 ,; -3 <x<3
2x+3 x>=3
f('3):'17 ,f(O):Z, ’f(l):37 ’f(3):'3’ 7f(4):'5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-10 | 1 2 | 2 | 2 | Discontinuous |
-6 | 2 2 2] 2 | Continuous
-5 | undefined | 1 1 1 | Discontinuous |
-3 | undefined | infinity | infinity | infinity | Discontinuous |

X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKK KKK KKK KK KX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T TN T O N R0 [0 I 155704
PiecewiseFunction Answers for No.646111

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1 2 3 4 | 5 6 | -3 | -5 | =7 1 -9 | -11 | =13 | =15 | =17 |
Ans02 : f(x)| -12 | -11 | =120 | -9 | -8 1| -7 -6 -5 -4 -4| -4 -4 -4 -4 -6] -8 -101] -12 | -14 | -16 | -18 |
Ans03
2-x ; x<1
f(x){
2x+3 ; x> 1
f(-4)=2, ,f(-2)=0, ,f(1)=N4, ,f(2)=7, ,f(4)=11
Ans04
-3 K x< -3
f(x)={2x+3 , -3<=x<=3
3—-x x> 3
f(-3)=-3, ,f(0)=3, ,f(1)=5.f(3)=9, ,f(4)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |

(VSIS D 9:9:9:0:0:9:0:9:0:0:0:0:9:0:9:0:0:0.0.:0:0.:9:0:0:0.0.:0:0.9:0:0:0.0.0:0.0:0:0.0.0.0:0:0:0:0.0.0.0:0.9:0:0:0.0.0:0.9:0:0:0.0.0:0.0:0:0.0.0.0:0.0:0.0.0.0.0:0.:9:0:0:0.0.0:0.9:0:0:0.0.0:0.0:0:0.0.0.0:0:0:0:0:0.0.0:0.9:0:0:0.0.0.0.0:0.9:0:0:0.0.0:0.9:0:0:0.0.0:0.0:0:0:0.0.¢
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DGRV ERRNCIVIVEND’'0:9:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA L T LN LT ORI JO I 1) 04
PiecewiseFunction Answers for No.646112

x| -101] -9 -8 -7 -61] -5 -4 -3 =21 -11] 01 | 2| 3 4 5 | 6 | | 8 | 9 | 10
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 -5 | -3 | -1 | 11 3 5 | 71 9 | 11 | 13 | 15 | 17 |
Ans02 : f(x)| -15 | -13 | =11 | -9 | -7 1] -5 =3 | -1 i1/ -3| -4 -5| NAJ|] -6| -6 -6 -61] -6 -6 -61] -6
Ans03
2x-1 ; x<=2
)=
-1-x ; x>2
f('4):'9’ 7f('1):'3’ 7f(2):3’ af(3):'47 ’f(4):'5
Ans04
x-1 ; x<=-1
f(x)={-2x-1 ; -1 <x<3
-7 N x> 3
f(-3)=-4, ,f(-2)=-3, ,f(-1)=-2, ,f(2)=-5 ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-6 | 2 2 2] 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXXXKXKXKXXKXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKX KKK KK KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | (YA LTI T ORI JO I ¢
PiecewiseFunction Answers for No.646113

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | -4 | -6 | -8 | =10 | 5 | 6 | 7 8 | 9 | 10 | 11 |
Ans02 : f(x)| -1 | -1 | -1 ] -1 | -1 ] -1 -1 1] NA | 0 | 1| 2 | 3| 41 -1 | =31 -5 =71 =9 | -11 | -13 | -15 |
Ans03
2x+3 ; x<-2
f(x){
x+2 ; x>=-2
f(-4)=11, ,f(-2)=0, ,f(1)=3, ,f(2)=4, ,f(4)=6
Ans04
2x+3 x< -3
fix)=| -5 ; -3 <x<=3
-2-x x> 3
f(-4)=-5, ,f(-3)=N4, ,f(-2)=-5, ,f(1)=-5 ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous
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DGRV ERRNCIVIVEND’$:9:0:0:0:0:0.6:0:0.0:0:0°0.0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT L N LT ORI Jo I} 5H 04
PiecewiseFunction Answers for No.646114

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 | 25 |
Ans02 : f(x)| -3 | -3 | -3 ] -3| -3 -3 -3 -3 =31 NA| -2 -1/ o NAa| -4 -6 =81 -10 | -12 | -14 | -16
Ans03
2x+1 ; x< -2
)=
3-x ; x>=-2
f(-2):-1, af(o):'37 ,f(2):-5, af(3):'67 ’f(4):'7
Ans04
2x+1 x< -1
f(x)= 3 ;o -l<=x<1
x+3 N x>=1
f('4):9a ’f('l):3’ 7f(0):3’ 7f(1):4’ af(z):s
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
1 | 4 | 1 1 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0038] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXXKXKXXKXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT ORI JO Ic1°) ¢
PiecewiseFunction Answers for No.646115

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | NA | 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16 |
AnsO2 : f£f(x)| -7 | -6 1| -5 -4 1| -3 | -2 -1/ 0 | 1| 7 5 | 3 | NA | 1 1] 1| 1] 1| 1 1] 1
Ans03
3—x ; x<=1
f(x>=[
2x+2 ; x> 1
f(-3)=6, ,f(0)=3, ,f(1)=2, ,f(2)=6, ,f(4)=10
Ans04
2x-3 x < -1
fix)={3-x ,; -1 <x<3
-6 s x>=3
f(-4)=-11, ,f(-3)=-9, ,f(-1)=N4, ,f(3)=-6, ,f(4)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-6 | 2 2 2] 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |

X [Page = 0039] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXXKXKXXXXXKXKXXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKX KX KKK KK KXKXKK KK XXX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N 010 Jo X 10) ¢
PiecewiseFunction Answers for No.646116

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | 71 8 | 9 | 10 | 11 | 12 | 13 | 14 |
Ans02 : f(x)| 7 6 | 5 | 4 | 3 2 | 1| NA | 3 3| 3] 3| 3 | NA | 5 | 7 91 11 | 13 | 15 | 17 |
Ans03
3-x ; x<2
f(x){
2x-3 ; x> 2
f(-4)=1, ,f(0)=-3, ,f(1)=-4, ,f(2)=N4, ,f(3)=3
Ans04
-3 -x x< -2
f(x)={2x-3 ; -2 <x<2
1 N x>=2
f(-3)=0, ,f(-2)=N4, ,f(0)=-3, ,f(2)=1, ,f(3)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
1 4 | 1 1 1 | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |

X [Page = 0040] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXK KKK XK XK XK KKK XKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’'0:9:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N R I Lo X N D794
PiecewiseFunction Answers for No.646117

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 -1/ 0 1 1] 2| 3 4 5 | 6 | | 8 | 9 | 10 |
Ans01 : f(x)| -5 | -4 | -3 | -2 | -1 | 0 | 11 2 3| 4 | 5 | 1 -1 | -3 | -5 | =7 1 -9 | -11 | =13 | =15 | =17 |
Ans02 : f(x)| -8 1| -7 -6 1] -5 -4 1] -3 | =21 -11] 0 | 5 | 3] 1| 1] 1| 1] 1| 1] 1| 1 1] 1
Ans03
2x—-1 ; x<=-2
)=
2-x ; x> -2
f(-3)=-7, ,f(-2)=-5, ,f(0)=-2, ,f(1)=-3, ,f(3)=-5
Ans04
2—-x x<=-3
fix)=12x+3 , -3 <x<=2
7 N x> 2
f(-4)=6, ,f(-3)=5,f(-1)=1, ,f(0)=3, ,f(2)=7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
3 | 5 | 3 3 3 | Discontinuous |
5 | 2 2 2] 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0041] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXKXXKXKXXKXXXKXKXXKXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT ORI Jo X/ 5757 ¢
PiecewiseFunction Answers for No.646118

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1 | NA | 5 | 3 11 -1 | -3 | -5 | -7 -9 | -11 | -13 | =15 |
Ans02 : f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 | ol -2 1 -41] -6 -81] NA| 5 | 6 | 7 8 | 9 | 10 | 11 |
Ans03
2x-1 ; x<=2
f(x>=[
3—x ; x>2
f(-4)=-9, ,f(-:3)=-7, ,f(-1)=-3, ,f(2)=3, ,f(4)=-1
Ans04
-1 K x< -1
f(x)={-2x-3 ,; -1 <x<2
x+2 N x>=2
f(-2)=-1, ,f(-1)=N4, ,f(2)=4, ,f(3)=5 ,f(4)=6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0042] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXXKXXKXKXXKXXKXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXK KKK KKK KKK KKK XKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KX KKK KXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N 010 JO I 55579 ¢
PiecewiseFunction Answers for No.646119

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 25 | 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 71 5 | 3 -1 | 0 | 1] 2 3 4 | 5 | 6 | 7
Ans02 : f(x)| -5 -5| -5 -5| -5 -5 -5 -5 =3 ] -1/ 1] 3 | 5 | 71 -5 -6 -7 -8 1 -9 -10 | -11 |
Ans03
3+x ; x<2
f(x){
2x+2 ; x>=2
f(-2):-5, af(o):'37 ’f(l):'za af(z):'za ’f(4):'6
Ans04
-3 -x x < -1
fix)=| -2 ; -l<=x<1
2x-2 x> 1
f(-2)=-1, ,f(-1)=-2, ,f(1)=N4, ,f(2)=2, ,f(4)=6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0043] XXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXKXXXKXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKK KKK KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV R NCIVIVEND’'0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0.0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0:0.0:0.0.6°0.0.0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0:0.0.6:0.0.0:9.0:0.0.6:0.0:6:0.0 ¢ | (YA L T L L LT ORI JO I ¥/579¢
PiecewiseFunction Answers for No.646120

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
Ans02 : f(x)| 24 | 22| 20| 18 | 16 | 14 | 12 | 10 | 6 | 6 | 6 | 6 | 7 8 | 911 10 | 11 | 12 | 13 | 14 | 15 |
Ans03
2x+1 ; x<=-
f(x){
-2 —-x x> -1
f(-4)=-7, ,f(-3)=-5 ,f(-2)=-3, ,f(-1)=-1, ,f(2)=-4
Ans04
2 : x< -1
fix)=| x+3 ; -I<=x<=2
2x-3 x> 2
f(-3)=2, ,f(-1)=2, ,f(2)=5 ,f(3)=-9, ,f(4)=-11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-2 | 0 | 2 | 2] 2 | Discontinuous |
1 4 | 1 1 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |

X [Page = 0044] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKKKXKXKXKXKKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGRV R NCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.00.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N 010 JO 1355704
PiecewiseFunction Answers for No.646121

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 f(x)| -23 | -21 | -19 | -17 | -15 | =13 | -11 | -9 | =7 | -5 | 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 |
AnsO2 : f(x)| -4 | -4 1| -4 | -4 1| -4 -4 | -4 1 -4 | -4 | -4 | -2 o| -4 -5 -6 =71 =81 =9 -10 | -11 | -12 |
Ans03
2x+3 ; x< -]
f(x){
2-x ; x> -1
f(-3)=-3, ,f(-1)=N4, ,f(2)=-4, ,f(3)=-5 ,f(4)=-6
Ans04
2—-x x< -2
f(x)= 7 ; 2<=x<3
2x+1 x> 3
-2)=7, ,f-1)=7, ,f(1)=7 ,f(2)=7, ,f(3)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-7 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0045] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKX KKK KK KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0:6:0.0 ¢ | [ YA L T L L LT O N RO I Lo I/ X35 ¢
PiecewiseFunction Answers for No.646122

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | 7 6 | 5 | 4 | 3 2 11 0 | -1 | -2 | -3 | -4 | -5 |
Ans02 : f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | NA | 1] 2| 3] 4 | 51 -1 =31 -5 =71 =9 | -11 | -13 | -15 |
Ans03
2x+3 ; x<2
f(x>=[
3-x ; x>=2
f('3):'3’ 7f('2):'1’ 7f(1):5’ af(z):'sa ’f(4):'7
Ans04
2x-2 x< -2
f(x)= 2 ; 2<=x<1
x+1 N x>=1
f(-4)=6, ,f(:3)=4, ,f(-2)=2, ,f(0)=2, ,f(1)=2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous

X [Page = 0046] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXK KKK XK X KKK KK KX KX KKK KX KX KKK KX KKK X KKK KX KX KKK KX KX KKK KXKXK



DGRV R NCIVIVEND’$:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.00.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N 01 Lo X i) 94
PiecewiseFunction Answers for No.646123

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -12 | -11 | =10 | -9 | -8 | =7 1 -6 | -5 | -4 | 3 11 -1 | -3 | -5 | =7 | -9 | -11 | =13 | =15 | =17 | -19
Ans02 fx)I -8 -71 -6 -5 -4 =31 -2 -11 o -3} -3¢ -3| -5 -7 -9 -11 | -13 | =15 | =17 | =19 | -21 |
Ans03
2—-x ; x<=-2
f(x){
2x+2 ; x> -2
f(-4)=6, ,f(-2)=N4, ,f(-1)=0, ,f(0)=2, ,f(3)=8
Ans04
2x+3 x< -2
f(x)= 5 ;, 2<=x<2
x+3 N x> 2
f(-4)=11, ,f(-3)=9, ,f(-2)=5 ,f(-1)=5, ,f(2)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
-8 | undefined | 2 2] 2 | Discontinuous
-7 | 2 2 | 2 | 2 | Continuous
9 | 4| 1] 1 1 | Discontinuous |

X [Page = 0047] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXK KKK XK X KKK KKK XKXK KKK XXX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGRV R NCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N A 01O JO I §5) 94
PiecewiseFunction Answers for No.646124

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24 |
Ans02 : f(x)| 3 3 | 3 3 | 3 3 | 3 3 | 3 4 | 5 | 6 | 7 | -10 | -12 | =14 | -16 | =18 | =20 | -22 | =24 |
Ans03
2x+2 ; x<1
f(x){
3—x ; x>1
f(-3)=-4, ,f(-2)=-2, ,f(0)=2, ,f(1)=N4, ,f(2)=1
Ans04
-2 K x< -2
fix)=]2x+2 , -2<=x<3
2—-x x>=3
f('4):'27 ’f('3):'2a ’f('z):'za ,f(-l):(), 7f(3):'1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
1 | 4 | 1 1 1 | Discontinuous |
5 | 2 2 2] 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0048] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXXKXKXXXXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXKXKKKXKX KKK KKK XKXKX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERHNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L L LT O N RO I0 Lo I/ 1°) ¢
PiecewiseFunction Answers for No.646125

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2] 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -24 | -22 | -20 | -18 | =16 | -14 | -12 | =10 | 11 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 | -9 | -10 | -11
Ans02 : f(x)| -24 | -22 | -20 | -18 | -16 | -14 | -12 | =10 | -8 | -6 | 01 o| - -2 -31 -4 -5 -6 =71 -81 =9
Ans03
2x+2 ; x<=1
f(x){
3+x ; x>1
f(-2)=6, ,f(-1)=4, ,f(0)=2, ,f(1)=0, ,f(2)=-1
Ans04
-5 ; x< -3
flx)=| x-2 ; -3 <x<=2
2x+1 ; x> 2
f(-3)=N4, ,f(-2)=-4, ,f(-1)=-3, ,f(1)=-1, ,f(2)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |

X [Page = 0049] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXKXXKXKXXXXXKXKXXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKX KKK KKK XKXKXKKXKX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L T L L LT O N R I JO 1510) 04
PiecewiseFunction Answers for No.646126

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 0 | -2 | -4 | -6 | -8 | -10 | -12 | -14 | =16 | =18 | =20 | =22 |
AnsO2 : £f(x)| -2 | -2 | -2 | -2 | =21 -2 1| =21 -2 | NA | 0 | 2 | 4 | 6| -2 -3| -4 -5 -6 -71 -81 =9
Ans03
2x—-1 ; x< -2
f(x){
2—-x ; x>=-2
f(-3)=-7, ,f(-2)=4, ,f(-1)=3, ,f(2)=0, ,f(3)=-1
Ans04
2x-3 x<=-]
fix)=] -1 ;-1 <x<=3
2—-x x> 3
f(-2)=-7, ,f(-1)=-5, ,f(0)=-1, ,f(3)=-1, ,f(4)=-2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-5 |  undefined | 1 1 1 | Discontinuous |
-3 | undefined | infinity | infinity | infinity | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0050] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKKKXKXKXKKKXKX KKK KKK XKXKKKXKXKXK KKK XXX KX KK KKK KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0:0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T LNV T O N R I [ ISH D704
PiecewiseFunction Answers for No.646127

X

x| -10 | -9 -8 =7 61 -5 -4 1 -3 | -2 1 -1/ 0 1] 2|
Ans01 f(x) | 14 | 13 | 12 | 11 0 | 9 | 8 | 7 6 | 5 4 3 8
Ans02 f(x)| 4 | 4 | 4 | 4 4 | 4 | 4 | 4 | 4 | 4 | 5 -5 1 =7
Ans03
2x+2 ; x< -2
KX)=[
2—-x ; x> -2
f(-2)=N4, ,f(-1)=3, ,f(0)=2, ,f(1)=1,
Ans04
2 ; x< -1
fix)={ x+3 ,; -I<=x<1
2x-1 x> 1
f(-4):2, 7f('2):2’ ,f(-l):2, 7f(l):NA’
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
[Page = 0051]

):0:0:0:9:9:0.0:9:9:0.9.0:0:9.9:0.0.0:0:9:9.9.0.0:9.9:0.0.0:0:9,9.0.0.0:0.9.0.0.0:0.9.0.0.0.0:0.9,0.0.0:0.9.9.0.0.0:0.9,9.0.0:0:9:9.0.0.0:0.9.0.0.0:0.:9.9.0.0.0.9.9.0.0.0:0.9.0.0.0.0.:0.9,0.0.0:0.9.0.0.0.0:0.9.9.0.0.0.9.0.0.0.0.0.:0.9.0.0.0:0.9.9.0.0.0.:0.9.0.0.0:0.9.0.0.4

|4
|12 |

| -11
f(4)=-2
f(3)=-7

5
14
-13

6
16
-15

7
18
-17

8
20
-19

9
22
-21

10
24
=23



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0.:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA L T L N T O N R [0 15125794
PiecewiseFunction Answers for No.646128

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 8 | 71 6 | 5 4 | 3 2 1 | NA | -1 | 11 3 5 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21
Ans02 : f(x)| -12 | -11 | =10 | -9 | -8 | -7 1| -6 ] =5 3 Ty -1/ -3/ -3/ -3 -3 -3 -3 -3 -3 =31 =31
Ans03
2x—-1 ; x<=-2
f(x){
2-x ; x> -2
f(-3)=-7, ,f(-2)=-5, ,f(1)=-3, ,f(3)=-5 ,f(4)=-6
Ans04
2x+3 x< -2
fix)= 7 ; -2 <x<3
x+1 N x> 3
f(-4)=11, ,f(-2)=N4, ,f(-1)=7, ,f(3)=N4, ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.646129

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 23 | 21 | 19 | 17 | 15 | 13 | 11 | 2 3| 4 | 5 | 6 | 7 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 |
Ans02 : f(x)| 25| 23 | 21| 19| 17 | 15 | 13 | NA | 2 3 | 4 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 |
Ans03
2x— sox< -2
f(x){
3-x ; x>=-2
f(-3)=-7, ,f(-2)=-1, ,f(0)=-3, ,f(2)=-5 ,f(3)=-6
Ans04
2x—-1 x<=-3
fix)={ 1-x ; -3 <x<1
0 N x> 1
f('3):'7> ’f(O):l, ’f(l):NAa ,f(Z)IO, ’f(4):0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |
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x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2] 3 | 4 | 5 | 6 | | 8 | 9 | 10 |
Ans01 : f(x)| -25 | -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | =7 1 -5 | -3 | -1 | =7 1 -8 | -9 | -10 | =11 | =12 | =13 | -14 |
Ans02 : f(x)| 3 3 | 3 3 | 3 3 | 3 3 | 3 1 -1 =31 =21 -1 01 1| 2 | 3| 4 | 5 6 |
Ans03
x—1 ;ox<=2
f(x):[ }
2x-1 ,; x> 2
f(-2)2-3, ’f(l):()a ,f(2):1, ’f(3):'7’ 7f(4):'9
Ans04
3 N x<=-3
f(x)={-2x-3 ,; -3 <x<1
x—-2 N x>=1
f(-3)=3, ,f(-2)=1, ,f(l)=-1, ,f(2)=0, ,f(3)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -6 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2] 2 | Continuous
10 | 0 | 0 | 0 | 0 | Continuous
12 | 3 3 3 3 | Continuous
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